HARDWARE DESIGNATION (1) 6" Panther Highflyer,
; 5 ; Plastic Float at A=3 Polyform Radar Reflector,
(1) 1/2" SH, (1) 3/4" sL, (1) 5/8" SH o et Solar Light
(M| (1) 3/8” Screw Pin \\
(O] (1) 5/8" sH, (1) 1/2" SL, (1) 3/8" Screw Pin © ®
@ 1" Screw Pin, (2) 1/2" SL, (2) 3/8" Screw Pins \\
(X)| NOPP Termination to Sled ©) 10 m 3/8" Karat
Depth 9 m »
@ Double Yale Grip i 30 m 3/8” Karat
(D NOPP Termination to Yale Grip Thimble 37.57 Steel Sphere/ARGOS/Light
1 m 3/8” Marine Chain
HARDWARE REQUIRED
" 10 m—=9y
(Without Spares)
(8) 1/2” Anchor Shackles
(6) 5/8” Anchor Shackles
(6) 3/4” Anchor Shackles 7769 ghg\;veg/a/,{-/;cﬁzg#g:e Array
(3) 1/2" Sling Links
Vini "Me” Sled (4) 3/8" Screw Pins
ini "Me” Sle ” ;
with WHOI (1) 1" Screw Pin (6) 17" Glassballs/
Transponder Recovery Pack with
Edgetech Release on
Overall Pigtail Length: 3 m 3/8" 1000 Ib Ww Anchor
g m ai h/y%rophsne end Marine Chain
m at sled en 3m 3/8"
SOS Sled Marine Chain
100 m 472 m Aw 2000 Ibs
flocl;"yc’gc;;’r 16 Channel Array @ Ww 1750 Ibs 300 m
able mated to 323 m 5/16” Jac Nil

16 Channel Array

® Wirerope
® \

90 m [“—\7\® @

SANE TGN NN SIS S S IS IS4

’ Note:
ASIAEX 2001 Anchor lowered to bottom

on Release Strongback

WHOI/NPS HLA/VLA Receiver Mooring Y ]

d: /dwg/aope /kemp /asiaex2001.dwg




